XII – Science		IMPORTANT / MODEL PAPER
DHAKA COACHING CENTRE
Karimabad Campus: 36826389, 36826381 Gulshan Campus: 34987386, 34813611, 34811691
Web: dcc.dhakagroup.edu.pk | Email: dhaka.centre@dhakagroup.edu.pk
Facebook: DhakaCentre | Twitter: @DhakaGroup | Instagram: DhakaCentre
IMPORTANT / MODEL PAPER 2017
	Subject: Botany
	Duration: 2 Hours

	Class: XII
	Max. Marks: 40


SHORT QUESTION: (Briefly explained)
* 	Turner’s Syndrome 	* Parenchyma		* Phases of growth or Growth correlation
*	Chemical composition of chromosomes	*	Effect of UV rays on DNA
*	A-Mitosis OR Genetic Code			*	Parthenocarpy OR Oceanic Region
*	Multiple alleles (Blood Group)		*	Diabetes mellitus type I and II
*	Karyotype and Homologous chromosomes	*	Mutualism, Linkage and crossing over
*	biological clock and circadian rhythm	*	Note on symbiosis OR upwelling
*	Incomplete dominance and co-dominance	*	Erythoblastosis foetalis
* 	Autosome and sex-chromosomes
*	Application of Vernalization and seed dormancy
*	Salient features in the life cycle of Gymnosperm
*	Chemical composition of DNA	*	Differentiate between Mitosis and Meiosis
*	Phynylketonuria			*	Defence against pathogens	
*	Germination and its types		*	Advantages and disadvantages of tissue culture
*	Explain pleiotropy or Gene pool
*	Definitions: Water potential, Osmoregulation , Solute potential , Homeostasis
*	Cancer as a result of uncontrolled cell division
*	Differentiate between Autecology and Synecology
*	Coniferous forest in Pakistan
*	Differentiate between P660 and P730 OR Invitro fertilization in plant.
* 	Role of Growth substance in plant.	*	Parthenocarpy	
*	Photoperiodism with its group	*	Alkaptonuria
*	Significance of Mitosis and Meiosis	*Why did Mendel select Pea plant for his experiment
*	Test cross	*	Explain polyploidy with example / down’s and Klinefelter’s Syndrome
*	Paratonic movements in plant with example
*	Salient features in the life cycle of Gymnosperm
*	Four natural methods of Asexual reproduction in plant
*	Note on neritic region		*   Levels of biological organization. Definitions with chart
*	Ecological niche, habitat, lentic and lotic water
*	Write down the chromosomal difference in Grasshopper

Reasoning Questions:
*	How does secondary growth take place in plants?
*	Write the chemical names of natural and synthetic hormones of following:
a. Auxin	b. Cytokinin
*	Write about spikelet inflorescence OR Head or capitulum
*	Which hormone is responsible for apical dominance?
*	What is nucleosome?		*	Write Chargaff’s rule		*	Explain G0.
*	Why the urine turn to become black in Alkaptonurians?
*	In which stage of meiosis the no. of chromosomes become half?
*	How many kinds of tRNA found in cytoplasm of human cell? Also write function of tRNA
*	Why doe test cross done in individual
*	Why the meiosis is known as reduction division?	*   Explain law of purity of gametes.
*	Explain polyploidy, Aneuploidy, Heteroploidy
*	Make a cross between Haemophilic male with carrier female. Write the ratio as well
*	How does lower plants get support?		* What is abscission?
*	Explain double fertilization in agniosperms	* What is meristematic region? Name its types
*	Write the no. of chromosomes in following:
	Sugarcane, Fern, Mosquito, Garden Pea, Penicillium, Drosophila
*	Write the names of Pentose sugar or 5-carbon sugar with formula.
*	In which stage of Meiosis crossing over take place?
*	Which process leads the development of Zygote upto an adult formation?
*	Why the G1 phase is variable in time period?
*	Why does meiosis lead the process of evolution?
*	How the chemical mutagens cause mutation?
*	Write the names of three genetic disorders. Explain any one
*	Write down the types of chromosomes on the basis of centromere
*	Make a chart of contrasting characters choose by Mandel for his experiment
*	Write down the phenotypic and genotypic ratios of Mandel’s Laws.
*	Define epistasis and name its two types with ratio.
*	Why the variation is seen in sexual reproduction?
*	Which process is responsible for evolution?
*	Make a cross between color blind female with normal male and write the ratio as well.
*	By which process the cancer cells are developed? 
*	Write the name of mutagen. Explain any one
*	Define gene expression. Name the processes involved in gene expression.
*	How the super coiling is possible in eukaryotic chromosome?
*	In which light the rate of photosynthesis is maximum?
*	How Plants prevent them against herbivory?
*	Name the process of seed formation without flower being fertilized with example.
*	Name some of the example of parthenocarpic fruits.
*	What are the reasons of seed dormancy?
*	How the sea is divided Horizontally and vertically? Show with the help of chart?
*	Define Perma frost, Ephemerals, Detrivores.
Detailed Questions:
i.	Define Mitosis. Describe various stages of Mitosis with labeled diagram.
ii.	Explain Watson-Crick Model of DNA with its replication.
iii.	What is Mutation? Describe chromosomal and Gene mutation
iv.	DNA as a hereditary material. Comment
v.	What is Biome? Name different types of Biomes of the world. Also describe Tropical Rain forest. OR Desert Ecosystem.
vi.	Describe Mandel’s Law of Segregation OR
	Describe law of independent Assortment of gene.
vii.	What is sex linked inheritance? Describe sex linked inheritance in Drosophila & Man.
viii.	Describe an overview of Gene Expression. OR
Describe Osmoregulation in detail.
ix.	Define Succession and its types. Describe Xerosere or Hydrosere  in detail.
x.	Describe induced or (Paratonic) movements in plants.
xi.	Describe Phytohormones in detail OR Describe detailed note on DNA damage.
xii.	Describe Natural and artificial methods of asexual reproduction.
xiii.	Describe Nitrogen cycle and support your answer with diagrammatic graph.
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SECTION A (MCQs)
 (MULTIPLE CHOICE QUESTIONS)-(M.C.Qs)
Q.1	Select the most appropriate answer for each from the given options:
i) The correct formula of Pyro sulphuric acid is:
a) H2SO4		b) H2S2O7		c) H2S2O5		d) H2S2O3 
ii) The  molecule of H2S is:
a) Linear		b) Non-Linear		c) Tetragonal		d) Hexagonal
iii) ‘d’ and ‘f’ block elements are called:
a) Heavy metals	b) Rare elements    	c) Transition elements    d) Typical elements
iv) When boric acid is heated to 140 oC, it forms
a) Borax 		b) Pyro boric acid	c) Meta boric acid	d) Boric oxide
v) The most stable carbonium ion:
a) Methyl carbonium ion         			b) primary carbonium ion
c) Secondary carbonium ion			d) Tertiary carbonium ion
vi)	 The total number of sigma bond in Benzene:
a) 3 			b) 6			c) 12			d) 18
vi) Ruby is an Oxide of:
a) Zinc 			b) Copper		c) Aluminium		d) Iron
vii) SN2 reaction occurs in:
a) Single step		b) Two steps		c)Three steps		d) Four steps
viii) The animal body contains this percentage of water:
a)  40% 			b) 55%			c) 70%			d) 90%
ix) The Sweetest sugar is:
a) Glucose		b) Fructose		c) Galactose		d) Lactose
x) In the stomach of young children, this is active
a) Renin 		b) Ascorbic acid	c) Riboflavin  		d) None of these
xi) This has highest molecular mass:
a) Toluene 		b) Xylene		c) Benzene		d) Phenol 
xii) Increase in the level of cholesterol in blood serum causes:
a) Diabetes 		b) Heart attack	c) High blood pressure	d) None of these
xiii) This is an example of dehydration:
a) Elimination reaction		b) Addition reaction 
c) Substitution reaction		d) Free radical reaction
xv)	Hydrides of group IVA are:
a) Acidic 		b) Basic		c) Neutral	d) Amphoteric
xvi)	The formula of carnallite:
a) MgCO3.CaCO3	b) MgCl2.KCl.6H2O	c) MgCO3	d) Mg(OH)2
xvii)	The polymer Bakelite is the product of Formaldehyde and:
a) Ethene 	    b) Methanal 	c) Phenol 	d) Ethanol 


SECTION “B”
(SHORT-ANSWER QUESTIONS)
NOTE: 		Attempt any ten part questions. Select five parts questions from inorganic 			chemistry and five parts questions from organic chemistry. All questions carry 			equal marks.
					INORGANIC CHEMISTRY
Q.2	i)    a) state the following laws:
1)    Newland’s law of octave		2) Doberenier’s law trides
	      b) Explain the position of Hydrogen is misfit in group IA of the periodic table? 
	ii) How Copper is obtained from its sulphide ore?  
	iii) Give the reasons of the following
· Li / Li+ couple has exceptionally high value of negative reduction electrode potential 
· Na+ ion is smaller than Na atom
· Why is Boric acid soft?
· Most of the Transition metals and their compounds are paramagnetic
iv)  a) Give the chemical formula of the following:
1. Blue Stone		2. Hypo		3. Chrome yellow	4. Pinky
a) Draw the geometrical shape of hydrogen sulphide molecule and explain its reducing action by two chemical equations.
v) Write the I.U.P.A.C names of the following:
     1. [Co(en)3](NO3)3	2. NH4 [Cr(SCN)4(NH3)2]	     3. [Zn(OH)4]-2	4. [Pt(Cl)6]-2
vi) Give equation for the following:
· Hydrogen is passed over hot Tungsten oxide.
· Litharge is heated with excess of air.
· Aluminium is reacted with aqueous sodium hydroxide.
· Copper sulphate reacts with excess of Ammonia. 
vii)	a) Describe two methods for the preparation of water gas.
      b) Describe the purification of Bauxite ore by Hall’s process.
viii) Write notes on any Two of the Following:
1. Silvering of mirror	2. Bleaching powder	3. Allotropy	4. Photography

ORGANIC CHEMISTRY
	ix)  a)    Draw and explain the orbital structure of Ethene.
a) Give chemical test to distinguish the following
1. Ethene and Ethyne		2. n – Hexane and Benzene
	x)  Give equations for the following reactions:
*	Ethane from iodomethane  	*	Ethene from Ethanol
*	Toluene from Benzene		*	Ethanal from Ethyne 
xi) What is Elimination reaction? Write the comparison between E1 and E2 reactions.
xii) How does phenol react with the following:
*	NaOH		* 	HNO3(conc)	*	 Br2/H2O        * 	Zinc dust
xiii)  a) What objections was raised on the Kekule structure of Benzene and how was it defended
b) Give two reactions in which Benzene ring is not retained.
	xiv)    a) Draw the structural formula of the following
1. Resorcinol     2. Diethyl acetylene     3. Trichloro methyl benzene	4. Isopropyl butanoate  
b) Define	*	 Cracking		*	 Homologous Series

	xv) Write the chemical names of the following vitamins and name the disease cause by their 
                    Deficiency:	*    Vitamin E	*     Vitamin B2            *	Vitamin C	*      vitamin B1
	xvi) Explain the Structure of Benzene by molecular orbital treatment  	


SECTION “C”
(DETAILED-ANSWER QUESTIONS)
NOTE: 	Attempt any Two questions--- one question from inorganic chemistry and the other from   
               Organic chemistry. Both questions carry equal marks.
INORGANIC CHEMISTRY
Q.3	a)       How is sodium carbonate prepared by Ammonia Solvay process? Draw the flow 
diagram.
	b)       What is aqua regia? How does it dissolve Gold? Explain with equations.
	c)        How is chlorine prepared on large scale by Castner-kellner cell? Write auto oxidation-
                         reduction reaction of chlorine.
Q.4	a)      Describe the manufacturing of oil of vitriol by contact process. Draw the flow diagram.
	b)      Complete the following equations:
	* 		* 
	*    		* 
 	c) Discuss the group trends in p-block elements with respect to:
	*	Ionization potential	* Electronegativity	* Electropositivity  
					OR
	    Discuss long form and short form of periodic table

ORGANIC CHEMISTRY
Q.5a)	How will you obtain the following compounds from Benzene?
	*	Acetophenone		*	Isopropyl benzene
	*	Bromo benzene		*	p-Nitro benzoic acid 
      b) 	Give the methods for the preparation of each of the following:
	* Propanone	*	Ethyl acetate	*	Ethanoic acid	*Diethyl ether  
      c)	What are Carbohydrates? Give their classification on the basis of molecular structure.
Q.6a)	Define Elimination reaction. Explain with examples E1 and E2 reactions in alkyl halides.
      b)	Why are synthetic fertilizers better than natural fertilizers? Describe phosphatic fertilizers.
      c) 	Name the following by I.U.P.A.C. system:
*	(CH3)2        C         CHO			*	(CH3)3 C . O . CH3		 
                                    
			     	    Br						            0
*Br3 C . COOH				             *   (CH3)2 CH         C         CH(C2H5)2	
*	CH2          CH          C           CH3
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(MULTIPLE CHOICE QUESTIONS) –  (M.C.Qs.)

1.	Choose the correct answer for each from the given option:	(20)
	i)		Shakespeare was a matchless:
		* Playwright 		* historian		* Victorian Age	* Reformation age		
	ii)	Einstein points out that each of us is in the world for
		* a long time		* a brief sojourn	* enjoyments		* observation	
	
	iii)	The word chauvinism means patriotism of this kind:
	* finest			* genuine		* distorted		* praiseworthy
	
	iv)	And now a bubble burst and now a world, this verse was composed by
				* Arthur Hugh Clough	* John Keats		* John Milton		* Alexander Pope
	
	v)	At the time of separation, the Muslim population in the sub-continent was
		* 70 million		* 100 Million		* 200 million		* 300 Million	
	
	vi)	Out of the Six, one foreigner is:
		* Rupert of Hentzau	*De-Gautet		* Krafstein		* Lauengram
	
	vii)	The first who notices Rudolf Elphbert’s duplicate in Ruritania is:
		* Josef			* Max Holf		* Strakenez		* Featherly	 
	
	viii)	‘Drunken dog! But I have eaten his bread’ These words are of
		* Burlesdon		* Colonel Sapt		* Strakenez		* Featherly 
	
	ix)	Musical melody does not require knowledge of language, but has its own appeal. The idea comes from:
· * The solitary Reaper	* Music when Soft Voice die   * Endymion	* Ulysses	  
	
	x)	The relation of Rose to Rudolf Rassendyll was:
			* Sister			* wife			* mother		* sister in law

	xi)		“An Essay on Man” is a poem which is deeply 
			* Religious		* Political 		* Social 		* Tragic

	xii)		“A thing of Beauty is a Joy forever” is the opening line of the poem.
			* Solitary Reaper		* Endymion		* Ulysses	* An essay of Man



	xiii)		The capital of Ruritania is
	 	  	* Zenda			* Tyrol			* Strelsav		* Dresden

	xiv)		In the summer house for his defence Rassendyll used a
			* Chair			* Tea Table		* Sword		* Pistol

	xv)		Black Michael was killed by
			* colonel Sapt		* Rupert		* Mauban		* Bersonin

	xvi)		For the Sake of the country, Princess Flavia sacrifices her
			* Love			* Wealth		* Parents		* Life

	xvii)		“The Day the Dam broke” gives us a picture of
			* War			* Human nature	* Romance		* Humour

	xviii)		The word Chauvinism means patriotism of this kind
			* Finest			* genuine		* distorted 		* true

	xix)		The one who intended to support Mr. Jones statement was:
			* Roper			* Relieving Officer	* Jack Barthwick	* John Barthwick

	xx)		The writer of the letter asking Princess Flavia not to accept the invitation by Michael is:
			* Rudolf Rassendyll	* Countess Helga	* Mauban		* Count Fritz				 						 
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 (SHORT- ANSWER QUESTIONS)
2.	Sub Section I (Intermediate) English Book I
i. What are the bases of Modern Cosmopolitanism as Suggested by Bertrand Russell?
ii. What is Einstein’s attitude towards war?
iii. Why did Dr. Mallary think that the flood waters were about to engulf him in a lesson “The Day the Dam Broke”?
iv. What motive does the man have for murdering Mrs. Judy oakentubb?
v.  Do you agree with the verdict given by the Magistrate in the lesson, “Act III of the Silver Box”?
vi. According to Liaquat Ali Khan what were the differences between the Hindus and the Muslim of India?
3.	Sub Section II (Selection from English Verse Part II)
i. What are the bases of Modern Cosmopolitanism as Suggested by Bertrand Russell?
ii. Describe the Last stage of Man’s Life with reference to the poem, “The Seven Ages of Man”?
iii. Give the message given in the poem, “Say Not The Struggle Naught Availeth”!
iv. What moral lesson, does the poem, “Ulysses” teach?
v. What are the qualities of an upright man described by Thomas Compion?
vi. Who was Samson? How was he captured by the philistines?
 Section III The Prisoner of Zenda
i. Describe the most loveable and sympathetic character in the Novel, “The Prisoner of Zenda”?
ii. Comment on the Tea Table incident which took place in summer place in Summer house in the novel, “The Prisoner of Zenda”?
iii. Who killed Black Michael? Why did the kill him?
iv. Who was the Prisoner of Zenda? Why was the imprisoned?
v. What is Ball? What was the importance of Ball in the Novel, “The Prisoner of Zenda”?
vi. What is Jacob Ladder?

Sub Section IV Grammar
i. Use any Three of the following phrasal verbs / idioms in sentences.
In camera, to die in harness, a during question a red letter day, a bone of contention, to rain cats and dogs.
ii. Use any three of the following pairs of words in your own sentences.
Set, Sat, Floor, Flour, Farmer, Former, Bear, Beer, Story, Storey, Advise, Advice
iii. Write the meaning of any five of the following words or phrases.
Melodrama, Gang One’s Own Gait, Charwoman Sinister Application, Manslaughter, Brief Sojourn, Antagonist, Endymion, Chauvinism, Abyss of Barbarism
Section “C”
(Detailed Answer Questions)
Note:	Attempt all questions from this question. All question carry equal marks.
3.	Write an essay on any one of the following topics.
i. Operation RADD UL FASAD (Terrorism)	ii.	Merits and De-Merits of Face Book
ii. Blessings and Curses of Science		iv.	Mega Problems of Karachi
iii. Census 2017					vi.	P.S.L 2017
4.	Change the Narration
i. He said, “Man is Mortal”
ii. He said to me, “Speak Truth”
iii. She said to me, “What is your name”?
iv. He said to me, “Are you aware of the facts”?
v. Mother said to her daughter, “May You Pass in the Exam”
5.	Read the following passage and answer the questions given below.
Housing is a very important problem. It is considered to be one of the basic heads of man. AS everybody is not able to build a house for himself, there is always a demand for rental houses. From the economic point of view too, it is uneconomical to build a house for one’s residence that to live in a rented house. Again thousands of villagers have shifted to big cities for better economical opportunities and better living.
i. Why a house is considered the basic need of a man?
ii. Why is it not economical to build one’s own house?
iii. How the big cities do attract the villagers?
iv. Give suitable title to the above passage?
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NOTE:	This paper comprises Two independent options. (I) Programmig Using “C” and (II) Programming Using Visual Basic. The candidates who have to attempt any One Option, Programming Using ‘C’ OR Programming Using Visual Basic, which so ever they have offered.

SECTION ‘A’
(MULTIPLE CHOICE QUESTIONS) – (MCQs)
NOTE:	i)	This section consists of 15 part questions and all are to be answered.
		Each question carries one mark.
ii)	Do not copy the part questions in your answer script. Write only the answer in full against the proper number of the question and its part.

1.	Choose the correct answer for each from the given options:
i)	in C programming ‘a’ is used for:
	* Line break
	* Form feed
	* Alert
	* Carriage return


ii)	This one of the following is not an objects of MS Access
	* Table 
	* Work sheets
	* Form
	* Modules


iii)	In Ms-Access , This data type is appropriate to store large text entries	
	* text
	* Memo
	* OLE
	* Number


iv)	This number of relations many exist between tables in database
	* 4
	* 3
	* 2
	* 1


v)	The void in the parentheses after main specifies that the function take
	* no arguments
	* no return

	* return value
	* do nothing


vi)	x = y + 1	
	* x = x – y + 1
	* x = - x – y + 1
	* x = -x+y+1
	* x=x-y-1


vii)	This one of the following operator takes only integer operand:
	* 4
	* 3
	* 2
	* 1


viii)	If a bas the value 3, then the output of the statement printf(“%d%d” , n++, ++n
	* 3   5
	* 4   5
	* 4   4
	* 2   5


x)	If a = 9, b=3 and c=2, then the expression:  (a – a/b *b%c)>(a%b) evaluates to:
	* False
	* True
	* invalie
	* 0


 xi)	If a file is opened in “w” mode, then:
	* Reading is possible
	* Appending is possible

	* Writing is possible
	* There is no any “w” mode


xii)	Data accessed must be sequential in 
	* Network database model
	* Hierarchical model
	* Relational model
	* Flat mended


xiii)	This language facilitates for describing the structure of fields record, files & program accessing rights:
	* Data definition language (DDL)
	* Data manipulation language (DML)

	* Data control language (DCL)
	* Structured query language (SLQ)


xiv)	The rules / formats for using a programming language are called:
	* Semantic
	* rule
	* syntax
	* module


xv)	This format specified is used to print string:
	* % c
	* % s
	* % d
	* % o


xv)	The statements following else in if-else construction are executed when:
	* the conditional expression following if is false
	* the conditional expression following if is true

	* the conditional expression following else is false
	* the conditional expression following else is true
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NOTE:	This paper comprises Two independent options. (I) Programming Using “C” and (II) Programming Using Visual Basic. The candidates who have to attempt any One Option, Programming Using ‘C’ OR Programming Using Visual Basic, which so ever they have offered.
SECTION ‘B’
(SHORT ANSWER QUESTIONS)
Note:	Answer any Twelve part questions from this section. All questions carry equal marks. Answer should not exceed 3 to 5 lines.
2.	i)	Why is C language called “case sensitive language”?
	ii)	What will be the output of the following program segment?
		For (i – l; i < 5; i++)
			  If (i = 3)
			Continue;
		Else
		Printf(“%d”,1);
	iii)	Write the printf( ) statement to print the following phrases  using escape sequence.
		a)	“The world is round”
		b)	How are you?
		c)	What is your Father’s name?
	iv)	What is the purpose of ++ and – operators? In C-language?
	v)	Debug the following program segment
		main (    )
		{ int I = 5, j = 1;
			    For (j – 0, j<=I j++)
		Printf(“%f”, &j);
	vi)	What are Reserve words or Keywords in C-language? Define only three
	vii)	Write equivalent code of the following statement in while – loop format.
		For (a = l; a = 10; a++)
		Print (“%d”, pow (a, a));
	viii)	What is composite key? Where do we use it?
	ix)	Write a program to compute the discriminate value using given formula (hint: 	)
	x)	Write the order of procedure of operator in C.
	xi)	if s = 1, h = 2 then define the purpose of the given code segment
		b = s + b;
		s = b + s;
		b = b + s;
	xii)	In which situation is one – to + may relationship used in database?
	xiii)	Write a program using function to calculate area of triangle (hint A = ab)
	xiv)	What is data redundancy?
	xv)	What is query language and why is it a valuable aspect of DBMS?
	xvi)	Write different file opening, modes in C-language.
	xvii)	What is the main purpose of report?
	xviii)	Write equivalent C-statements.
		* z = (x2 – y2) + (x+y)2		* b = 		* Z = 
	
SECTION “C”
(DETAILED ANSWER QUESTIONS)

Note:	Answer any Two questions from this section. All questions carry equal marks.

3.	a)	What is a Loop? Define any two types of loops in C.
	b)	Explain the different data types used in C language.
	c)	Why is Relation Database Management System (RDBMS) widely used in database 	design?

4.	a)	Define function, what are the main reasons to develop a function?
	b)	How does the switch (  ) statement differ from else if statement? Explain with 			example.
	c)	What do you understand by referential intercity?

5.	a)	What are unformatted input-output (I/O) functions used in C? Explain with example.
	b)	Explain the different data types in MS-Access.
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SECTION ‘B’ (SHORT-ANSWER QUESTIONS)

i. 	When and between which country was the Indus Basin Treaty signed.
OR
	Write the year of the first two round table conference.
ii.	When and where did Pakistan first atomic nuclear explosion take place.
OR
	What do you know about the development project of CDGK.
iii.	What is the poetic collection of Shah Abdul Latif Bhitai named?
OR
In which Language did Shah Waliullah translate the Holy Quran and who was invited by him to attack India for political ends?
iv.	Which countries have joint borders with Pakistan?
OR
When was the Pakistan Revolution passed and what movement has been constructed to commemorate it?
v.	Give any three points of differences between the urban society and rural society of 	Pakistan?
OR
	Describe briefly the three main Crops of Pakistan.
vi.	When and whom was the Objective Resolution presented?
OR
	Write down any three points of Lucknow Pact 1916.
vii.	What do you know about the Aligarh Movement.
OR
	Describe the role of Sir Syed Ahmed Khan infusing the spirit of nationalism among the 	Muslims.
viii.	Describe the contribution of Liaquat Ali Khan in Pakistan Movement.
OR
	State the natural resources of Pakistan.
ix.	Write the salient features of Pakistan culture.
OR
	Describe the basic principles of the foreign policy of Pakistan.
x.	Discuss the social conditions of the sub-continent before the advent of Islam?
OR
	Describe the aims and objectives of All India Muslim League?
xi.	What do you know about the regional language of Pakistan. Explain.
OR
	State the problems faced by Pakistan just after its establishment.
xii.	Describe the geo-political importance of the location of Pakistan?
OR
	What do you know about Nehru Report.
xiii.	When did Quaid-e-Azam join the All India Muslim League and when did he leave the Indian 	Congress?
OR
Who was the head of the boundary commission and which areas due to come to Pakistan were handed over to India by him.
xiv.	When did Cripps Mission and the Cabinet mission come to India.
OR
	When were the first and the thi4d constitutions of Pakistan enforced?

SECTION ‘C’ (DETAILED-ANSWER QUESTIONS)
Q1.	What is meant by the two Nation Theory.
OR
	Explain the importance of the Objective Resolution in the constitution making of Pakistan?
Q2.	Describe the Islamic provision of the constitution of Pakistan. 
OR
	Discuss the significance of the political events from 1906 to 1940.
Q3.	What problems did Pakistan faces on after its creation.
OR
	Describe the geographical local of Pakistan and its importance the region.
Q4.	Write notes on any two of the following:
	i.  The Kashmir dispute	ii. Allama Iqbal’s Allahabad Address 1930
Q5.	What is culture heritage of Pakistan.
OR
	Why did Muslims of sub-continent demand for a separate state of themselves.
Q6.	Estimate the steps taken for the constitutional protection of Islamic Ideology. 
OR
State about the relationship between Pakistan and Islamic world. Estimate the efforts at Islamization in Pakistan?
Q7.	Explain the role of Urdu in eh integration of Pakistan.
OR
	Note on: i.	SAARC		ii.	Industrial development in Pakistan
Q8.	Describe the important political events that took place between 1940 to 1947.
OR
	Describe the role of Urdu in National integration of Pakistan.
Q9.	Describe the basic principles of the foreign policy of Pakistan.
OR
	When and why was the Khilafat Movement started? Who were the Muslim Leaders at that 	time.
Q10.	When Muhammad Ali Johar was brought for trail and where did he die and where he is 	buried.
OR
	What do you know about the Allama Iqbal’s address Allahabad 1930.
Q11.	When did Ghandi Jinnah talks take place and what was its result?
OR
	What is Tashkand Declaration. Discuss?
 Q12.	Explain the major sources of Economic Development in Pakistan.
OR
	What are the major Agricultural problems of Pakistan.
Q13.	Describe difference five year plans and then performance in Pakistan’s economics?
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Chapter # 11
1. With the of kinetic molecular theory show that pressure of the gas is P = .
2. Show that average translational kinetic energy per molecule is directly proportional to the absolute temperature. 
3. Define molar specific heat of gasses at constant pressure ”Cp” and at constant volume “Cv”. why Cp is greater than Cv? Using first law of thermodynamics show that Cp – Cv = R by two isotherms. 
4. State and explain the second law of thermodynamics.
5. State and explain the first law of thermodynamics. Explain the following applications of first law of thermodynamics Isobaric process, Isochoric process.
6. Deduce the Charles’s gas law from P = .

Chapter # 12
1. Define electric flux and electric flux density also computes the electric flux through a sphere due to charge at centre.
2. Define electrical potential difference and show that the electric field intensity is equal to the negative of potential gradient.
3. What is the parallel plate capacitor? Calculate the capacitance of parallel plate capacitor when (i) air is between the plates.(ii) dielectric medium is between the plate. 
4. What is a compound capacitor? Derive an expression for its capacitance, if the space between the plates is partially filled with a slab of dielectric.

Chapter # 13
1. State and explain the Ohm’s law also describe its limitations.
2. Define electromotive force and terminal voltage also shows their relative expression. 
3. Describe the different ways to connect the resistors in electric circuit and compute the equivalent resistance in (i) series combination and (ii) parallel combination. 

Chapter # 14
1. Derive the expression of magnetic torque of a current carrying coil in magnetic field. 
2. Briefly describe the motion of a charge particle in magnetic field also determine the charge to mass ration of an electron by JJ THOMSON method.
3. State and explain the Ampere’s circuital law.Using Ampere’s circuital law calculates the magnetic induction inside a solenoid. 
4. Define self-induction and compute the expression for self-inductance.
5. Describe the principle; construction and working of AC generator also calculate the induced emf.
6. What do you meant by motional emf? Derive its relevant formula.



Chapter # 15

1. What do you understand by the sensitivity of moving coil galvanometer? (11) How can be it convert into ammeter. 
2. Describe the principle, construction, working and mathematical expression of wheat stone bridge. 

Chapter # 16

1. What do you mean by rectification, discuss the half wave rectification.
2. Define the transistor and its types also discuss the function of transistor as amplifier.

Chapter # 17

1. Define special theory of relativity and discuss its consequences. 
2. Discuss the phenomenon of pair production and annihilation of matter.
3. State the photoelectric effect. Give its demonstration and experimental results also discuss the Einstein explanation of photoelectric effect. 

Chapter # 18

1. Determine the atomic radii with the help of Bohr Theory of hydrogen atom. 
2. What do you by understand by laser? Briefly describe its principle and operation. Also give different types of laser.
3. Describe the features of Bohr atomic model. 

Chapter # 19,20

1. Discuss the principle, construction and working of Wilson cloud chamber. 
2. Define the half life of radioactive elements and radioactive decay law. 
3. Define nuclear reaction also explain the nuclear fission and fission chain reaction.
4. Define nuclear reaction also explain the nuclear fusion reaction.
5. Define natural radioactivity, write down the properties of radiation(alpha, beta and gamma rays) emitted from the radioactive elements.
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CH#01

Q1	Define composite function. If f(x) = tan(x +2) and g(x) = x2 + 1 find the composite 	function fog = gof				

Q2	Define even and odd functions. Find whether f(x) = is even or odd function o

Q3	Write the nth term of the sequence and calculate its limit.
  Q4	Find the nth terms and the limit of the sequence:

		……………… where dot ‘.’ represents multiplication.

LIMIT OF A FUNCTION
Evaluate the following


i)[image: ][image: ]		ii)   		iii)**



iv)   	v)     		vi)





vii)		viii) 	ix)	




x)			xi)		xii)	


xiii)  [image: ]		xiv)[image: ]	
MCQS
I)  	 A function  f(x)=    - is
	*odd        		*  even        		*  neither even nor odd * modulus

II) 	A function f  is said to be odd whenever.
	*f(x)=0             		*   f(-x)=f(x)          	*  f(-x)   =-f(x)             	*f(x)=1
iii)	f(x)=sinx +cosx is
	*even function 	*odd function  	*neither even nor odd *  modulus


IV)	A function is.
	*Even function         * odd function        * Circular function * Neither even nor odd function

v)	

		* 0			*			*e			* 1

vi)		

	*0			* 1			* 			* 2
vii)	=
	*1              		*               		*     e 2          		*-e

viiI) 	
*  4			* 8			* 			* 0

IX) 	
*        			*                  		*                    		*      

x)	

	* 1			* 		* n			* 0

xi) 	


	* 			* 7			* 			* 3

xii)	 
*   8			* 4			* Not defined		* 0
CH#02
Q1	Find the equation of the line which passes through the point (-3, -4) and has the Sum of its intercepts equal to 1.
Q2	A straight line passes through the points A(-12,-13) and B(-2,-5).Find the point on the line whose ordinate is -1
Q3        A is two-thirds the way from (1,10) to (-8, 4) and B is the midpoint of(0,-7), (6, -11).

             Find the distance (a)( b)   Equation of AB
Q4	Find the equations of the straight line which passes through the point (3,4) and makes intercepts on the axes such that the y-intercept is twice its x-intercept.
Q5	Prove that the diagonals of an isosceles trapezoid are equal.
Q6	The vertices A, B and C of a triangle are (2, 1), (5, 2) and (3, 4) respectively; find the 
	coordinates of the circum-centre and also the radius of the circum-circle of the triangle.
Q7	Find the equation of the perpendicular bisector of the line segment joining the points 
	A(15, 14) and B(-3, -4).   
Q8    	In what ratios does the point M (2, 4) divide the join of L (7, 9) and N (-1, 1)






Q9  	If the points (a, b), (,), (a-, b-) are collinear, show that their join passes through the origin and that a= b				
Q10	Show that the line segment joining the mid-points of any two sides of a triangle is 
parallel to the third side and equal to one half of its length.
Q11	The line through (6, -4) and (-3, 2) is perpendicular to the line through (2, 1) and (0, Y);  find Y. Also find the equation of both the lines
Q12	Find the equation of a straight line passing through the point (a, b) such that the portion of the straight line b/w the axes is bisected at that point.
Q13	Find the angles of the triangle whose vertices are A (-2, 1), B (4, -3) and C (6, 4).
Q14	For the triangle with vertices A (5, 1), B (3, -5) and C (-3, 7). Find the equation of altitude from “B”.
Q15	The straight line joining the points (1, -2), (-3, 4) is trisected, find the co-ordinates of 
the points of trisection.
Q16	Prove that if the diagonals of a parallelogram are perpendicular, the figure is a rhombus.
Q17	The centroid of a triangle whose two vertices are (2, 4) and (3, -4) is found to be (3, 1); find the third vertex. 
Q18	The X-intercept of a line is k and y-intercept is the reciprocal of the x-intercept and passes  through the point (2, -1), find the equation of the line.
Q19	An equilateral triangle has one vertex at the point (3,4) and another at the point (-2,3). Find the coordinates of the third vertex.
Q20	Find the point which is  equidistant  from (0,0), (3,1)  and  (6,0).
 Q21	Find the ratio in which  y –axis  divides the join of (-5,3) and (8,6). Also find the coordinates of point of division
MCQS
i)	If a straight line is perpendicular to y-axis then its equation is:
    * x=0             		*    y=constant		*    x=constant		 * y=0
ii)     	The point of concurrency of internal bisectors of angles of a triangle is called:
* Centroid		* Ortho centre		* Incentre		* circumcentr
iii)    	Distance of the point (4,5) from y-axis is :
 	*5 units          		*5 units        		*   5 units          	*5 units
iv)	If a straight line is parallel to y-axis then its slope is:
 	* 1			* 0		 	* -1		 	* 

v)	If a line is parallel to x-axis its equation is:
*   x=0			* y=0			* x=constant		* y=constant
vi)	A line is parallel to x-axis if its slope is:
* 1			* 0			* -1			* 2
CH#03
Q1  	Find the combined  equation of the pair of lines through the origin which are perpendicular      
to the lines represented by 6=0
Q2	Find the distance between the parallel line
(i)5x -12y +10 = 0, 5x – 12y –16 = 0.
(ii) 3x + 4y +10 = 0, 6x + 8y – 9 = 0.
Q3 	The gradient of one of the lines =0 is five times that of the other. Show    
that 5h2=9ab
Q4 	D, E, F are the mid-term of the sides BC, CA, AB respectively of the triangle ABC show that ABC = 4DEF.
Q5	Determine the values of a and b for which the line (a + 2b -3)x + (2a – b + 1)y + 6a + 9 = 0 is    
parallel to the axis of X and has y-intercept -3. Also write the equation of the line. 
Q6	Find the measures of the angles of the triangle, the equation of whose sides are x + y - 5 = 0
               x - y + 1 = 0 and y = 1. Also find its area.
Q7	A line whose y-intercept is 1 less than its x-intercept forms with the co-ordinates axes a triangle of area 6 square units. What is its equation?
Q8	The point A (-1, 3) is the foot of the perpendicular dropped from the origin to a straight line. Find the equation of this line.
Q9	Find the centroid of the triangle, the equations of whose sides are 12y2 - 20xy + 7x2 and
2x – 3y + 4 = 0.
Q10	Find the equation of a straight line through the point of intersection of the lines 
               3x + 2y + 5  = 0 and 2x + 7y - 8 = 0, bisecting the join of (-1, -4) and (5, -6).
Q11	Find the equation of the line passing through the intersection of the lines 3x – 4y +1 = 0 and 
5x + y – 1 = 0 and cutting off equal intercepts from the axes.

Q12	Find the equations of the straight line passing through (1, -2) and making acute angles of 	radians with the line 6x + 5y = 0 (Draw figure).
Q13 	Find the equation of the straight line through the intersection of lines 5x – 6y – 1 = 0 and 
               3x + 2y = -5 and perpendicular to line 3x – 5y + 11 = 0.
Q14	Find the equation of the locus of a point whose distance from the point (2, -2,) is equal to its   
distance from the line x – y = 0.
Q15	Find the equation of the line perpendicular to the line x – y + 5 = 0 and passing through the intersection of the lines x – 2y + 7 = 0 and 2x + y – 1 =0.
Q16	Show that the equation of the line through the origin, making an angle of measure & with    


the line y = mx + b is = 
Q17	Find the equations of the straight lines through the intersection of the lines 5x – 6y – 1 =0,     
               3x + 2y + 5=0 and making an angle of 45o with the line 5y – 3x = 11.
  
Q18	Find the equation of the line parallel to (i) x-axis(ii) y-axis and passing through the point of  
intersection of x – 2y – 1 = 0 and 2x + y + 1 = 0.

MCQs
i)	Twolinesrepresentedby+2hxy+=0 are perpendicular to each other ,if
               *a-b=0        		* a=0                   		* b=0     		*   a+b=0
 ii) 	The slope of the line 3x-5y-15=0 is :  	*		*                       *
iii)	3x-5y -15 = 0 is parallel  to the line
               * 5x-3y –15 = 0		* x - y+15 = 0     		* 3x + y –15 = 0     	*6x-10y+ 15 = 0                    
iv)  	The line 4x + 5y +2 = 0 is perpendicular to the line:
               * 5x + 4y –2 = 0		* 5x - 4y+3 = 0     	*  4x + 5y –2 = 0     	*     - 5x - 4y+ 2 = 0                  
v)    	Area  of triangle  ABC,When  A,B,C are collinear ,is 
			*  Zero                           	*  positive              	*Negative

vi) 	The angle between the pair of lines  is:




               *90                 		* 45	       		* 0	    		* 180
vii)	The line 2x + 3y + 6 = 0 is perpendicular to the line:
              *2x + 3y – 8 = 0		* 2x – 3y + 7 = 0	      	*  x – y + 6 = 0		* 3x – 2y + 9 = 0

CH#04.
Q1     Find  derivative by first principles at x=a  in the domain D (f) of the functions 
i) f (x)=cotx, secx,   cosx,cotx,				ii) f (x)=x  ,x  ,   x  
iii) f (x)=sin2x   ,cos2x				iv) f (x)=sin , cos , tan ,
v) f(x)  =3-x, ,   
Q2     Find    when






i)    	ii)	iii)	 iv)  			v)    			vi)    		



vii)  	viii)  

ix)   


    x)		xi)   


  xii)			xiii)   				


xiv)					xv) *		


xvi)   xx)   

xvii)                   
MCQS
i)	()=:
*            		*             	*       		*     
ii)	(x)=:
*     x         	*    tanx    		*      xtanx        	*   2 xtanx      
iii)      	(x)=:
* 2sinxx         		*   2sinx cosx    	*             -2cosx        	*    sinxcosx
iv)	Derivative of     with respect to  x  is :
	 *                    	*     lnx              	*                     	*      a

v)    	If f (x) = sin9x, then is:
	 *cos 9x	           	*-cos 9x	      	* 9cosx	      	*9cos 9x
vi)	()=:
*            	*             	*       		*     
vii)  	If  f(y)=for all in R   then  :
           * lnady                    *         	*               	*   dy


viii) 	If = is:




    *	                *		*		*
  ix)	If  y=lnsinx,then  =:
               *          	                 *   cosx          	*    cotx                        	*    tanx
x)  	If  y=  logax,thendy=:
             *  lnadx                    *         	*    dx        	*   

xi)	is equal to:




	*       	                  *	      	*  		*

xii)	is
	* 2sin x cos x	                   * -2sin x cos x	  * 0			*  1


xiii) 	If = is:




    *	                   *		*		*
xiv) 	If y= cotx, then dy =



	* –cosec x dx 	                   * -cosec		* –cosec dx		*) cot dx 

xv) 	If f (x) = tan 9x, then is:
	* sec2 9x		      * 9sec2x		* 9sec2 9x		* –sec2 9x

xvi)	 If f (x) = lnx2 , then at x = -2 is:



*			*			*			* 1

CH#05


Q1	Show that can be approximated to. Hence find approximate value of          



a).    b)      c)
Q2	Using differentials, calculate the approximate value of i)tan 44o.  ii) cos 46o.iii)  sin43
Q3 	If the radius of a sphere increases by 0.1%, show that the volume increases by about 0.3%.
Q4 	Find the relative maximum and minimum values of the function


(i)	(ii) f(x)=2  	(iii)  

(iv)		(v) f(x) = x3 – 3x2 + 2x + 1

Q5	Determine the extreme values of the functions: f(x) = 
Q6	Find the right angled triangle of the maximum area whose hypotenuse is of length “h.”

MCQs
i)	The necessary condition for f(x) to have an extreme value is:




    *		*		*		*

ii) 	If s = f (t), then 
*distance covered at time ‘t’		*speed at time ‘t’	
*acceleration at time ‘t’			*velocity at time ‘t’
CH#06
Q1	Evaluate the following

1)		2)dx	3)		4)



5)	6)  	7)	8)  


9)		10)	11)	12)        




13)	14)	*15)	16)




17)		 18)      19)     	20) 




21)		  22)		23)		24)   




25)	 26)	27) 	28) 	




  29) 		30)	31) 	       32)




33)		34)		35)   36)          




37)		38)    	39)			40)	




41) 	42)  		43)	44)



45)		46)	47)   			

DIFFERENTIAL EQUATIONS
Q1.	Solve the following differential equation:

1)                    2) 

4).		

5when x = 3.

	

	
	

	

	

	
	13)   2+2y=1+3,y(2)=1

AREA UNDER THE CURVE


Q1	Find the area above the x-axis between the ordinates  under the curve 		y=

Q2  	Find the area above the X-axis between the ordinatesunder the  curve  
y = tan x.

Q3     	Find the area above the X-axis, between the ordinates x = -2 and x = 1 under the curve 	.  

Q4 	Find the area above the X-axis under the curve f(x)= between.  

Q5	Find the area above the X-axis, under the ellipse  b/w the ordinates 
	x = -1& and x = 1.
Q6	Find the area under the curve y=x-    b/w the   ordinates x=2,x=4
MCQS
i) 	dx=
* +c   	* +c      	* ln(x+1)+c     	*-ln(x+1)+c
ii)	dx=
*+c		*   3+c		* 			*+c
iii)	dx=
   *a+c            	* +c             	*+c		* -a+c
iv)	 =
	*ln(1+)+c         	*  +c     		*       	*+c
v)	
*secxtanx+c		*secx+tanx+c	*secx+c    		*tanx+c
vi)	dx=x
   * x+c			*     +c        		* +c		*  	+c	

vii)	dx is equal to:
	*+c		*+c	            *  sinx+c     		* +c
viii)  	



*  In     	 *+c          		*       	*  In

ix)	is equal to:


    *		* 		* 0			* 0.5x+c


x) 	ifthen is equal to:




    *		* 		*  In		* 

xi)	 dx is equal to:



	*		* 		* 		* tan x + c

xii) 	An equation involving is called:
    * polynomial equation  * differential equation	* exponential equation * logarithmic function

xiii)	 is equal to:




    * 		* 		* 		* 

xiv)	is equal to




    * 		* 	* 	* 

CHAPTER  #07
Q1	Find the equation of the circle which is concentric with the circle x2 + y2 – 8x + 12y -12 = 0 and passes through the point (5, 4).
Q2 	Find the condition that conics a+b =1  and+b’=1cut each other orthogonally.
Q3 	Find  the equation of the circle touching each of the axes in 4th quadrant a distance of 5 
units from the origin
Q4	Find the equation of circle concentric with the circle x2 + y2 + 6x –10y +33 = 0 and touching
	i)y-axis(i.e x=0)   	ii) X –axis (i.e y=0)
Q5	Prove that the straight line y=x+c  touches the circle +=  and find its point of 
contact.
Q6 	Find the equation of circle which passes through the origin and cuts off intercepts equal to 
3 and 4 from the axes.


Q7	 Prove that curves  and intersect at right angle at the 

point


Q8	Prove that two circle touch each other, if		.
Q9	Find the equation of the circle whose centre is at the point (2, 3) and it passes through the 

centre of the circle .


Q10	Prove that if two circlestouch each other, then .
Q11	Find the equation of the circle containing the point (-1, -2) and (6, -1) touching x-axis (i.e 	y=0). 
Q12 	Find the equation of the circle which passing through the point (-2, -4) and has the same centre as the circle whose equation is x2 + y2 – 12y – 23 = 0.

Q13	Find the equation of the circle which passes through the two points (a, 0), (-a, 0) and whose radius is.
Q14	Prove that the product of abscissae of the points where the straight line y = mx meets the 

circle x2 + y2 + 2gx + 27y + C = 0 is equal to.
Q15	Find the equation of circle which touches X–axis and passes through the points (1, -2) and
(3, -4).
Q16	Find the equation of the circle containing the point (4, 4) and touching the line y =x at 	point(6, 0)
Q17 	Show that four points (3, 4), (-1, -4), (-1, 2), (3, -6) are concyclic, find the equation of the circle on which they lie. 
MCQS
i)	The length of the tangent  drawn  from the point (3,-1) to the circle 2x2 +2y2 + 5 = 0 is
    *		         *		*  			*  	
ii) 	The equation of the circle with centre (0,0) and radius r is :
	*+=1                   *  +=0       	*      =              	*    +=

iii) 	The centre of the circle is:
  	*(10,-6)                        *   (-10,6)		* (5,-3)			* (-5,3)

iv) 	The centre of the circle is:
*(3,4)		         * (-3,-4)		* (3,-4)			* (-3,4)
v) 	The length of the tangent  drawn  from the point (2,4) to the circle x2 +y2 - 5 = 0 is
    *		         *		*  			*  	
vi) 	The centre of the circle   +8x=0is:
   *(0,0)                 		*   (-4,0)	* (8,0)			* (-2,0))

vii) 	The centre of the circle is:
       *(-3,5)			* (-3,-5)		* (3,-5)			* (3,5)
viii) 	Which of the following circles passes through the origin?


*			* 


*   		*  
ix) 	The centre of the circle x2 + y2 – 6x + 8y – 24 = 0 is:
* (3, -4)			* (-3, 4)		* (4, 3)			* (3, 4)
x) 	The length of the tangent from the point (-2, 3) to the circle x2 + y2 + 3 = 0
* 3			* 4		* 5			* 6
xi) 	The slope of the following tangent to the curve y = 6x2 at (1, -1) is:	
* -12			* 12		*) 15			* 6
CHAPTER  #08
Parabola
Q1 	Determine the vertex, focus and equation of directix of the parabola


i)	ii) 
Q2	Find the equation of the circle whose diameter is the latus rectum of the parabola
	(i)y2 = -36x(II) x2 = -36y.
Q3	Find the equation of the parabola whose focus is (3, 4) and directric x + y – 1 = 0.
Q4	Find the equation of tangents at the ends of the latus rectum of the parabola y2 = 4ax.

Q5.	If are the coordinates of the extremities of a focal chord of the parabola 


y2 = 4cx, prove that and
Q6	Find the equation of the tangents to the parabola x2 = 4y which are parallel and perpendicular to the line y = 6x + 2
Ellipse

Q1	The length of the major axis of an ellipse is 20 and its foci are the points . Find the 
equation of the ellipse.
Q2 	Find the eccentricity, centre, vertices and the foci of the ellipse given by equation 




Q3	Find the equation of the ellipse whose latus rectum and major axis is along
(i) Y-axis	(ii) x-axis

Q4	Find the equation of the ellipse whose centre is at origin, vertices at and the length of the latus rectum is 3 units.


Q5	Prove that the line and the ellipse have just one point in 
common if a2l2 + b2m2 = n2.


Q6. 	Find the equation of the ellipse with vertices at and passing through the point .
Q7 	Find the eccentricity, the semi-axes, the centre, the vertices and coordinates of the foci of the ellipse: 4x2 – 32x + 25y2 – 300y+864=0
Q8	Find the distance between the vertices, foci and directices of the ellipse 9x2 + 13y2 = 117
Q9	Find the centre, vertices, foci, eccentricity and equation of directories of the following ellipse 25x2 + 16y2 - 50x + 64y -311 = 0
Q10  	Find the equation of the ellipse whose centre is at the origin, directrix x = 16 and length of latus rectum is 12.
Q11 	Find the centre, focus and eccentricity of the      
Q12 	Find the eccentricity,foci and equation of directrices of 25+=225
Q13   	Find the  eccentricity of an ellipse whose length of latus rectum is half of its major axis.
Hyperbola

Q1 	Find the eccentricity, foci and equations of directrices of the hyperbola 
Q2 	Find the eccentricity of the hyperbola whose latus rectum is four times that of the transverseaxis.
Q3 	Show that the eccentricities e1 and e2 of two conjugate hyperbolas satisfy the relation 


Q4	Find the coordinates of the centre, foci, length of semi-transverse axis and the eccentricity of the hyperbola 16x2 – 36y2 + 48x + 180y – 225 = 0.  	
Q5	Find the equation of the hyperbola with centre at the origin whose eccentricity is 3 and one ofits foci is (6, 0). 
Q6	Find the distance between the directrices of the hyperbola 16x2 – 9y2 = 144 and also find 
theequations of the directrices.
Q7	Find the equations of the tangents and normal to the hyperbola x2 – y2 = 49 at (8, 15)
Q8	Find the equation of the hyperbola with centre at the origin & focus at the point (8, 0) 
and the directrix is x = 4.
Q9	Find the equation of a hyperbola with centre at the origin, length of the latus rectum = 
64/3, transverse axis along y-axis and eccentricity = 5/3
Q10  	Find the eccentricity ,foci and equation of directrices of hyperbola 91=0                  
Q11	Find the equation of a hyperbola    having focus (8,0) and directrix x=4	
MCQS
i) 	If e=1, then conic is :
	*Circle 			* ellipse		* parabola		* hyperbola

ii) 	The vertices of hyperbola are:




*		* (0, 2)		* (0, 4)		* (4,0)

iii) 	The distance between the foci of the ellipse  is:	

*2a			* 2c			* 2b 			*

iv) 	If eccentricity, then the conic is:
*parabola		*hyperbola		*ellipse			*circle
v) 	If b2 = a2(1 - e2), the conic is:
*circle			*parabola		*ellipse			*hypérbola

vi) 	The vertex of the parabola is:
*(1,-2)			* (0,1)			*  (2,0)			* (0,0)
vii)   	If e1, then conic is :
	*Circle 			* ellipse		* parabola		* hyperbola
viii) 	In parabola =4ax,  represents 
	*  focus       		*      vertex		*axis     		*    length of latus rectum

ix)  	Length of latus rectum of an ellipse    is 
* 			*                  		*   			  * 
x)    	In hyperbola =
	*    	*    		* 
xi)	Length of latus rectum  of parabola   =4ay is 
	*4a                  		*    a                  		*    4           		*     |4a|
xii) 	If b2 = a2(e2 - 1), the conic is:
	*circle			* parabola		* ellipse		* hYpérbola

xiii) 	The vertex of the parabola is:
	*(-2,2)			*   (2,-2)		* (-2,-2)			* (2,2)
CH#09


Q1 	Find the unit vetor perpendicular to both the vectors and and


find sin (,).

Q2	Find cos in a triangle whose vertices are A(5, -1), B(-2, 0) and C(4, 3).

Q3	Find sin (a, b) and also find a unit vector perpendicular to both, where




Q4	Find cos between 
Q5	Find the scalar area of the triangle ABC where A, B, C are the points (5, 1, -2), (-2, 7, 3),
(-4, -3, 1) by vector method.

Q5	Prove that 

Q6	Evaluate the scalar triple product:- 
Q7	Find the volume of the parallelepiped whose three adjacent edges are represented by they


vectors: and .


Q8	Evaluate the scalar triple product of, where 
Q9	Find the volume of the parallelepiped with edges OA, OB, OC where A, B, C are the points
(0, 1, 1), (-2, 1, 3), (2, -2, 0) respectively.


Q10	A particle acted upon by the forces andis displaced from the point
(1, 2, 3) to the point (5, 4, 1), find the work done.


Q11	P, Q, R are the points respectively. M divides in the ratio 2:3 and N 

dividesin the ratio 4:1. Find the position vector of N. 
Q12 	Show that the position vector of the mid-point of the line AB where A and B have position 


vectors respectively is.
Q13	Find the scalars x, y and z such that



 Q14	Resolve the vectors in the direction of the vectors  





Q15	Two points P and Q have the position vectors with respect to the origin O, given 


respectively. Calculate the length PQ and show that the vectors 

andare mutually perpendicular
Q16 	Resolve the vectors  “a “in a plane in the direction of  where a=(9,4),   
	
MCQS






i)  	If and are any two vectors then(-)x(+) is equal to:





*		* 0			*x			*2(x)


ii) 	If then the angle between the vectors is:


*0			*			*			*



iii)	of a vector when , where [image: ][image: ]is:



*			*			*	  		*	
iv)	The unit vector in the direction of r=i+j+k  is
*1        		*           		*       * 
v) 	If vector a  and b  are perpendicular ,then a.b=
	* 1      			*    -1           		*0          		* 
vi) 	If two vectors A
	*parallel    		*    perpendicular 	* Opposite     		*   Equal 
vi)  	a.bxc=:
	*     abc         		*     axbxc        		*    a,b.c      		*   axb.c
vii)  	Magnitude of a=3i-j+2k is 
	*13              		*  	              	* 			*  *
viii)  	Magnitude of a vector (1,  - is 
*9			*3			*			*
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Chapter#01
Q.1:	What is excretion? Described how does excretion occur in planaria, earthwarm and 
cockroach?
Q.2:	write in detail the different types of kidney problems faced by human?
Q.3:	Explain the structure of nephron and described the regulatory function of kidney?
Q.4:	Thermoregulation in mammals.

Chapter#02
Q.1:	with the help of labeled diagram described in detail the locomotion in invertebrates 
animals?
Q.2:	What is joint? Describe the different kind of joints found in human & also explain the 
mechanism of moveable joint with diagram.
Q.3:	Structure of skeleton muscles & mechanism of their contraction with labeled diagram.	
Chapter#03
Q.1:	With the help of labeled diagram described the structure of neuron and how does nerve impulse transmitted from one to another neurons?
OR
	What is neuron? Explain the structure of neuron and also explain the transmission of 
impulses from one neuron to others.
Q.2:	Write the structure and function of different parts of the human brain?
Q.3:	What is behavior? Explain in detail the Innate behavior OR Learning behavior.
Q.4:	Define pituitary gland as master gland.
Q.5:	Define Nerve impulse under a) RMP b) AMP c) Synapse

Chapter#04
Q.1:	With help of labeled diagram described the human male reproductive system? OR 
Human female reproductive cycle.
Q.2:	Describe in detail the different mode of A-sexual reproduction in Animals?
Q.3:	Described in detail the sexually transmitted diseases in human? 
Q.4:	Describe Menstrual cycle. Define various phases & changes occurring in each phase.

Chapter#05
Q.1:	Define Gastrulation? Explain the development of chick up to the formation of three germinal layers?

Chapter#09
Q.1:	Described the uses of biotechnology for the welfare of mankind? Also described the 
worries about biotechnology?  
Q.2:	Explain in detail the recombinant “DNA” technology with the help of labeled diagram?
Q.3:	What is gene therapy? How is it helpful against the disease? & Explain Genetherapy  in SCID and cystic fibrosis.

Chapter#10
Q.1:	What is evolution? Describe in detail the palaeontological & embryological evidences of organic evolution? 
Q.2:	Define organic evolution? 
Q.3:	Explain Lamark’s theory of evolution & objections raised against it.
Q.4:	Explain Darwin’s theory of evolution & objections raised against it.

Chapter#13
Q.1:	What is pollution? Name the kind of pollution and explain in detail air OR water pollution. 
Q.2:	What is energy? Write its type & explain any five of them.
Q.3:	What are Infections & parasitic diseases? Explain their causes and mode of transmission? 

Short Question & Answer
XII – Zoology Short Questions 
Chapter#01

Q.1:	Write about Liver as a homeostatic organ?
Q.2:	Explain the osmoregulation in Fresh & marine animals?
Q.3:	Write the name & function of hormones effects on the function of kidney?
Q.4:	Define the following terms:
	(i) Homeostasis (ii) Osmoregulation (iii) Feedback system (iv) Poikilotherms 
(v) Homoiotherms (vi) Heterotherms	(vii) Ectotherms (viii) Endotherms (ix) Pyrexia
Q.5:-	Explain the role of hypothamus in temperature regulation?
Q.6:-	Explain briefly about the adaptation of kidney in animals?
Q.7:	Draw neat & labeled diagram of orinthine cycle?
Q.8:	Write a note on any one types of kidney diseases OR Haemodialysis.
Q.9:	State the role of Hormones in the working of Kidney?
Q.10:	How do Homeotherms maintain their body temperature during hot and cold season?
Q.11:	Define Osmoregulation in terrestrial animals.
Q.12:	Write a note on Lithotripsy.

Chapter#02

Q.1:	Define briefly spondy losis, Sciatica, discship.
Q.2:	Write the note on locomotion in animal have hyrdodastatic skeleton.
Q.3:	write a note on malmutrition OR Osteoporosis? 
Q.4:	How does muscle become fatigued? 
Q.5:	Write a note on joints with its type?
Q.6:-	Name the antagonistic muscles with function?
Q.7:	Write a note on exoskeleton?
Q.8:	Differentiate between the striated and non-straited muscles?
Q.9:	Define joint. Draw a labeled diagram of Ball and socket joint?
Q.10:	Describe locomotion in jelly fish?
Q.11:	Describe the structure of skeletal muscles and explain the mechanism of their contraction. Draw labeled diagram of skeletal muscles?
Q12.	Difference between bones and cartilages.
Q.13:	Write four function of skeleton.
Q.14:	What is pelvic girdle ? Name its important 3 boxes.
Q.15:	Write a note on hydrostatic skeleton.
Q.16:	Write a note on Arthristic.
Q.17:	Write a note on abnormal muscle contraction.
Q.18:	Describe locomotion in Ameoba.

Chapter#03

Q.1:	Write a note on Thymus glands.
Q.2:	Describe any one endocrine gland?
Q.3:	Write a note on.
	(i) Epilepsy (ii) Gigantism  (iii) Acromegaly (iv) Dwarfim (v) Goiter (vi) myxedema
	(vii) Cretinism (ix) cushing’s system (x) Addision’s disease OR Parkinson’s OR 
Alzheines’s disease.
Q.4:	Described periphecal nervous system?
Q.5:	Write a note on Resting membrane potential OR action potential OR Reflex action.
Q.6:	Differentiate between Parasympathetic and sympathetic nervous system.
Q.7:	Write a note on classic condition OR operant condition?
Q.8:	Differentiate between the nervous coordination and chemical co-ordination?
Q.9:	Write a note on latent learning OR Insight learning?
Q.10:	Define receptors. State the different types of receptors with their functions?
Q.11:	Distinguish between innate behavior & learned behavior.
Q.12:	Define neuron & give names of its different types.
Q.13:	Describe posterior lobe of pituitary gland.
Q.14:	Differentiate between centralized & diffused type of nervous system.

Chapter#04

Q.1:	Write a note on any one of following:
	(i) Sperinetogenesis (ii) Fertilization (iii) umbilical cord (iv) laclation (v) Oogenesis
	(vi) Test tube babies
Q.2:	Define the following terms:
	(i) conception (ii) Implantation (iii) Pregnancy (iv) gentation (v) Placenta (vi) Aminon
	(vi) Labour
Q.3:	Explain any one of them ?
	(i) Oestrons cycle (ii) Ovarian cycle (iii) Hormones acts on female reproductive cycle.
Q.4:	Name the various type of Asexual reproduction in animals with example.
Q.5:	Write a note on placenta.
Q.6:	Significance of sexual reproduction.
Q.7:	Name the various types of a sexual reproduction in animals with example.
Q.8:	Write a note on regeneration.
Q.9:	Give the names of sexually transmitted diseases & explain any one of them.
Q.10:	Draw labeled diagram of male reproduction system of human being.

Chapter#5
Q.1:	What is abnormal development? Also write their name with definition. 
Q.2:	What is development ? Briefly explain the processes of development?
Q.3:	Write a note on the role of cytoplasm in the development OR Cell differentiation and its mechanism.
Q.4:	Define Aging & mention its causes.



Chapter#9
Q.1:	Write the note on following:
	(i) Transgenic animals  (ii) Tissue culture (iii) Cloning (iv) DNA finger prints 
Q.2:	Explain cystic fibrosis and Huntington’s diseases?
Q.3:	What is gene therapy?

Chapter#10
Q.1:	Write a note on evidences of evolution from?
	(i) From vestigial organs	(ii) From Homology
Q.2:	Briefly explain endanger species & wild life?
Q.3:	Write the objection on Darwin’s theory of evolution?
Q.4:	Give any 2 evidence in support of organic evolution?
Q.5:	Note on homologous organs.
Q.6:	Describe hardy weinberg’s law?

Chapter#13

Q.1:	Write a note on ?
	(i) Green house effects (ii) Protection & conservation of environment.
Q.2:	How human activities effects on environment.
Q.3:	Write the four name & causes of the following types of diseases.
	(i) viral  (ii) bacterial (iii) Fungal (iv) protozoal (v) parasitic (vi) Nutritional 
	(vii) Genetic (viii) Aging (associated Disease)
Labelled the following diagram: (i) Flame cell (ii) Nephron (iii) Neuron
Q.:	Write a note on acid rain?
Q.6:	Name any four viral diseases and them modes of transmission?
Q.7:	Write a note on AIDS?
Q.8:	Write a note on energy conservation?
Q.9:	Differentiate between renewable & non-renewable resources.
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